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1. Elaborate the factors responsible for disability in India. 10
OR

What is disability? Explain the causes and consequences
of disability. 10

2. Discuss the different types of disability in India. 10
OR

Discuss the different types of institutions available for
persons with disability in Mizoram. 10
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Critically examine the salient features of persons with

disability (Equal Opportunities, Protectioins of Human

Rights and full Participations) Act, 1995. 10
OR

Elucidate the National Trust for the Welfare of Persons
with Mental Retardation and Cerebral Palsy Act,
1999, 10

Discuss the services available for persons with disability
in Mizoram. 10

OR

Discuss the availability of disability schemes in
Voluntary sector in Mizoram. 10

Discuss the significance of group work among person
with disability. 10

OR
Discuss the important contribution of social workers in

working with persons with disability in community
settings. 10
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(Part A - Objective)

(25 Marks)
Tick the correct answer: (1x10=10)
Impairment is
a) dysfunction of the mind ()
b) dysfunction of one or more organs )
¢) dysfunction of behaviour (i)
d) None of the above &)
A person is disabled if he has
a) 40% of any disability ()
b) 50% of any disability ()
¢) 60% of any disability (]
d) 20% of any disability € )
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Which of the following is not a type of disability?
a) Visual impairment
b) Hearing impairment
¢) Listening impairment
d) Mental illness

S

Visual impairment means visual acuity not exceeding
a) 6/60 or 20/200 (snellen) in the better

eye with correcting lenses ()
b) 6/40 or 10/200 (snellen) in the better

eye with correcting lenses ()
¢) 8/60 or 20/600 (snellen) in the better

eye with correcting lenses ()
d) 1/60 or 50/200 (snellen) in the better

eye with correcting lenses ()

Orthopedic disability is also termed as

a) Leprosy € )
b) Mental retardation ()
¢) Locomotor disability G)
d) All of the above ()
National Institute od Orthopedically Handicapped deals with
a) Mental retardation’ ()
b) Visually impaired ()
¢) Locomotor disability ()
d) Hearing impaired ()

Reservation of seats for persons with disability in government jobs
is
a) 5%
b) 3%
¢) 9%
d) 7%
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Which among the following is not a cause of disability

a) Old age €2

b) Accident ()

c) Personality disorder ()

d) Child birth ()
To get free aids and appliances one has to have

a) Doctors prescription ()

b) Disability certificate ()

c¢) Educational certificate )

d) None of the above ()
Handicap is created by

a) Society s 7

b) Persons with disability !

¢) Impairment )

d) All of the above ()
State True ( T ) or False (F): (1x5=5)
Handicap is one type of disability. ( )
Person with ‘low vision’ means a person with impairment
of visual functioning even after treatment or standard
refractive correction but who uses or is potentially capable of
using vision. ( )
Mental illness means any mental disorder other than mental
retardation. ( )
Disability is also constructed by society. ( )
PWD Act was passed in 1996. ( )
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III.  Answer the following questions. (2x5=10)

1. Distinguish between Impairment and Disability.
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Explain the concept of Advocacy.
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Explain any one type of disability.
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4.

What is the function of Rehabilitation Council of India (RCI)?
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Explain any one role of social worker in the area of disability.



